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ax0=0

a+0=a
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1-0=
1
0
002%. 0x oo =
(0.]
1x0=2x0

=1x(0xo0)=1x1=1,
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a:b=
b#0
b=0
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(cross ratio)

21,2, %3, %4

_R3—R21 R — 21
[21722723)24] - .
23 — 22 24 — 22

3:4:5=3k:4k :5k

k#0

(a,0,¢)
(0,0,0)

S ={(a,b,c)|a,b,c 1 —{(0,0,0)}

(CL, ba C) ~ ((10, b07 CO) <~

ka = ag, kb = bg, ke = co(k )

~

(a,b,¢) (a,b,c)

a:b:c={(ao,bo,co)l(ao,bo,co) ~ (a,b,c)}

. C



a#0 a:b:c=1 % <
(és
0:b:c
b#0 0O:b:ic=0:1:¢
oo(%) 0:0:¢c=0
0:1 oo
n n f(z,y)
f(z,y) =0 To Ty -T2
x = 21/T0,y = x2/T0 xy

F(xo,1,22) = f(x1/%0,22/70)xq

F($0,.’I}1,{E2)

f(z,y)

f@y) = y—z
F(xo,21,22) = 72 — 11
xz—:l;‘]_:O

y—x—1=0 y—z=0
y—x—1=0 Top—x1+
xo—o
Tp—x1 =0, zo—21+20=0
1‘020,1‘2211 0:1:

apro + a1x1 +axxy =0

agro + ajxy +arro =0 boxg + bizy +box, =0
h i

— t —
Up="a a1 a2 , U =

h i
L by by by
xo -

1 .2

apxo + a1y +arxro =0, boxg+ brxy +boxo =0

0:0:0

uq uo U; X U2

22442 —12=0

22+ y?+2ax+2by+c=0



a=b=

?+y2+1=0

1‘12 + 122 + 2axgry + 2bxoxs + Cxoz =0

x0=0

:clz + a:22 + 2azoxy + 2bxoxo + cacoz =0,20=0

212 + 222 =0 r1 = Fizo.
0:1:94 0:1: —3
I,J
A 0 A=tand
y=0 y=X
Q,P

Q=0:1:0,P=0:1:)

P?Q’I7J
[P7Q7[7J]
T2 /1
p I J
=4
0
@)
[A,O,i,—i]
z1 = MNzp = 0,23 = d,24 = —i
[21, 22, 23, z4] = 2222 1 222
i—A
P. I, J]=[\0,4,—i] = -
[ aQ’ ) ] [ ;U 2 Z] TT

2'L'9_1
A=tanf = —i 50+ 1
L= A _ 2
v

[P,Q,1,J]= e

[P,Q,1,J] 2i
0
y:Almy y:AZI
[P, P1,1,J]

1215 22, Z3’O‘7ﬂ

[21,22,0,6][22, Z17a7/@] =1



[21, 22, , B[22, 23, @, B] = [21, 23, @, ]



